Math 306 Term 3 Test 1

Plotting, Inequalities and Volume & Area of Solids

 50 Points

Name: __________________________________________________
 



Group _____

Section 1 - True/False: Use a “T” for a true response and an “F” for a false response.

1) _____The coordinates (10, -42) and (-10, 42) indicate a zero rate of change.

2) _____ The initial value is the point where the slope intersects the y-axis on a graph.

3) _____ When comparing two slopes on a graph, the steeper slope indicates the greater rate of change.

4) _____ Two lines with the same slope and different initial values will never intersect each other.

5) _____ When comparing between two points on a table of values, the rate of change and the average are represented by the same values.               

Section 2 – Tables of Values and Plotting
Your dryer doesn’t work, so you call a repairman who charges $20 for the service call, plus $10 an hour for his repair work. Complete the table of values, plot the relation on the Cartesian graph provided below, then answer the related question.

Dryer Repairs

	Hours of work
	  0
	  1
	  2
	  3
	  4

	Cost ($)
	
	
	
	
	


 




  6)

              Dryer Repairs
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   9) & 10 are for the x & y-increments scales and the plot






          11) You would have to pay $________ if the repairman took 2 hours to fix 






    the dryer, and there were $75 in parts?

7) 

                                   8)


Thelma works in a restaurant. She is paid 12$ an hour. Consider the relation between the number of hours worked and her pay. Make a table of values.         

    12) _____________________________ 



	13) 
	15)
	0
	
	
	
	

	14)
	16)
	
	
	
	
	48


           17) & 18) Graph the situation (start x & y from 0.)
 Thelma’s Pay


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	




 Show the x & y-increments.

How many hours must Thelma work to make 252$?
                                           Hourly Wages         19) Thelma must work ________ hours.


   Earnings

Homer works at the Rotgut Coffee Shoppe where he makes $8.50 an hour. Consider the relation between the number of hours worked and the salary earned. Complete the table of values below to illustrate the relation.

	Hours worked (t)
	6
	20)

	Salary earned (S)
	21)
	$340.00


Section 3 – Determine the intersection of the two lines by use of the comparison method. Show your work.


22) Y = 2x – 9  and  Y = –x + 3  


23)  The intersection point of these lines is: ( _____ , _____ )

24) Y = 3x  and  Y = 6x – 15



25)  The intersection point of these lines is: ( _____ , _____ )

26) Y = 7x + 1  and
 Y = 2x – 4


27)  The intersection point of these lines is: ( _____ , _____ )

Section 4 – Determine the intersection of the two lines by use of the graphing method. Fill in both tables of value (TOV’s) with their corresponding y-values, plot the two lines on the graph and circle the intersection. (Note: the x & y-axis are incremented by 1).


	x
	0
	3

	y
	
	


28) Y = 2x





29) Plot this line onto the graph.

	x
	0
	3

	y
	
	


30) Y = x + 2




31) Plot this line onto the graph.

32) The intersection point of these




    * Circle the intersection point on

          lines is: ( _____ , _____ )





       the graph.

Section 5 – Inequalities: Evaluate the following inequalities.  Show your work.

33) & 34)  _______________________
 3x + 9 
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35) & 36) _______________________
–17x  – 4 > 47
37) & 38) _______________________  22  <  7x + 1

38) & 40) _______________________  
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 EMBED Equation.3  [image: image3.wmf]
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Section 6 - Determine the volume of each of the following solid shapes. Show your work


41) & 42) Volume  = __________ 



    5 cm (slant height or apothem)                                           

                                                          6 dm        






____________________________________________________

43) & 44) Volume  = __________ 



                             7 cm

                                       14 cm                   

                                         7 cm






____________________________________________________

45) & 46) Volume  = __________ 



                                                                    

8 m diameter 

                                                        7 cm





____________________________________________________

47) & 48) Volume  = __________ 



                                                                    

Square base (12 in by 12 in) 


                     Height 8 in






____________________________________________________

49) & 50) Volume  = __________ 



                                              10 dam
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